
l . y = x o + x t - 8 x 2 _

4A: L+t -x&)-q +n
v .=  36 '3L

.: x'L it"o &'+or
7t t  I  - t  -L  tz

L, L-, -,,
I  ?-L-6 a
?--'
f r3x^-2x-6

,Xt(r,rE)-eG*l) t
"C*aYx1;1) h"+'.

-)J'ritl
,)

DUE DATE:

# 0' C,la - U-tl + q0), + f(t) t t
= I  +6+q - l - tL
t o

J.x+t  is  a $cb
- t  1 l  -b  q  q  _ lz

' t  1 - lL 1L

GRAPHING

f"Zt -1 ,Er-IT
{,= 2t -3 

t l. l l )-1.'t t

2" @>Gz)L't)
= lL

\G ASSTGNMENT A

NAME: )o/,,t*r on S

(c,,
>

ffi$:r.Xn*:o"' e'pr' il;.6ffi#i r"'",i'".'.-iirl*'"1, carcuration. *J*orr in the

2 .y=xu -6x t+9x2+4x_12

!  t  lbqL o
o %-,'

Yr'ixt+ lLxlz

,Ir/t= bf4"frrc(e-rz
v :  t  -27+glz

2 o
:. (ll:z) ir e € clrr

zll { lL -tL
I z-ro tu
.l_Lg o

f%x+ to
L

Cx-t)k-z)

J==2tu)('3)@)

---i - .-

, - - - j - ;

r '___. ' --:
-:---


